Пример кода Python по упражнению 1
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In [8]: from sympy import *
matplotlib inline

In (131 #

x=Symbol ('x")
1/4%x¥*4-2/34x**3-3/2*x**242
Plot (£, (x,-3,4))

™

10

©0ut[13]: <sympy.plotting.plot.Plot at 0x28ad797des>

Tn [24]:  res-solve (diff (£,x) %)
QE2-diff (£, %,2)
print (d£2)

3.0%x%¥2 - 4.0%x - 3.0

In [31]: for i in range(3):
print (£'x=(res[1]:5.2£}, smax oymxwme {sign(df2.subs(x,res(il))}’)

1.00, smax gymmwee 1
0.00, smax oymmwm -1
3.00, smax gymewm 1
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In [64]: from sympy.plotting import (plot_implicit,
plot3d,plot3d parametric_surface)

In [65]: x,y=symbols('x y')
f£f=Function('x y')
gk L4y rd DRxHRD DRyRED ARy

In [66]: plot3d(£f, (x,-2,2), (v,-2,2))

Out[66]: <sympy.plotting.plot.Plot at 0x28adScccfd>

In [67]:  url=diff (££,x)
ur2=diff (££,y)

In [68]: sys—url,ur2
solve (sys)

out(68]: [(x: 0, yi O},
:—eqrt(2), v osare(2)),

sqre(2), y: -sart(2)),

-sqrt(3)/2 - 1/2, y: -sart(3)/2 + 1/2},
—sqrt(3)/2 + 1/2, y: -sqrt(3)/2 - 1/2},
:sqre(3)/2 - 1/2, y: sqre(3)/2 + 1/2),

i sqrt(3)/2 + 1/2, yi sqre(3)/2 - 1/2H





